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Sioasg efemésenb sflwnsl ugeurndl e drarsr ereaTugemaT FMUTTESSIS
Qs meremeyb. iFaliLSele Gapull@Lider, siemné sarramentLmeTilL b

instructions : (1)

o L emquinasd Cgflelléseay.

(2) Beod ey sBLUY o@wvlea LLECWL aWHUSDHEGD
93 5CaMyHeaugnEh LWaTLhES CouamBbd. ULRSET cuamyausn s

Quendled LweTuHIES6LD.

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

@Iy : Cemeuwner QLgHd LILID euamihgl FLETLTHS@ET 6T(psea,.

Note :

Draw diagrams and write equations wherever necessary.

LS - I/ PART - I

GOy : (i) mensg lamssEnsEhd el wefssayb.

Note :

Coibs0s81E GHELGLa e Geman b Gsigg erpseab.

(i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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@G’mﬂ@ryn&unﬁm, ijbﬁ.rﬂ.és éB{LISlGDQ@]L_G&I Gﬁ]mmurﬂﬁj@ S(MHeug) :
(1) GGaGrm QéMes (<) empl_Crm GL_rgyeSer
(8) GGy Yafls oufaw () enpl Gy faflafern

Chloroform reacts with Nitric acid to produce :

(a) Chloropicrin (b) Nitro toluene
(c) Chloropicric acid (d) Nitro glycerine
Gamiguwid @ Geullssiu@Eng.

(&) mésm () Bif

Sodium is stored in :

{a) Kerosene (b) Alcohol

(c) Ether (d) Water

saysedlen seugp® LTaID B(PSS5MS () S(HLD gmé‘o‘rurr@ :

(=) mv=nRT (<) TRT=n
(@) m=nRT () Qeundled ggiLilevens
Osmotic pressure (mw) of a solution is given by the equation :
(a) wv=nRT (b) wRT=n
(c) w=nRT (d) none of these

OH

| . iy b
CH;—CH - CH,— CH=CH—CHj Gemoglen IUPAC QUi :

(<31) Qangev —2 — e — 4 — <6 (=),) Qandev —4 — et — 2 — 6

(@) Qam&en — 2 — Frem — 4 — 36 (F) Qamdev —4 — et — 2 — i6d
The IUPAC name of the compound

OH

|
CH3—-CH-CH,—-CH=CH-CHj :

(a)
(c)

hex-2-en-4-ol (b) hex-4-en-2-ol
hex-2-en-4-al (d) hex-4-en-2-al
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&
~1 ellenarellenar sri(Heug :
(1) =0 (<) =Br (@) (=1) wpmid (24) () —CHj
~1 effect is shown by :
(a) -Gl (b) =Br (c) both (a) and (b) (d) —CH,

Yeaumeuaraupmier arddledafler (C,H,) sramliu@b sriue sgaissHnE FLWOTET
sriuean gseigdms GudmETaTg erg ?

(o) Quenfar (@) upuder (@) maGser () mh@sen

Which of the following compound has percentage of Carbon same as that in Ethylene
(C,Hy) ?

(a) Benzene (b) Propene (c) Ethane (d) Ethyne

senpflen [D,0] QardBlane

(=1) 375.4 K (<) 373.4 K (@) 376.2K () 374.4K
The boiling point of heavy water [D,0] is
(a) 3754 K (b) 373.4K (c) 876.2K (d) 3744K

QemeumeuareupmieT etgl Qeulin Quisselluied sTiL] e ?

(1) erem_Gymd () <i5 DO

(8) eymiey %HHe () cremgredd
Which of the following is not a thermodynamic function ?
(a) entropy (b) internal energy
(c) frictional energy (d) enthalpy

wanipBiflem pH i :

(=1) 5.6 (<) 6.5 (@) 4.6 (F) 7.5
The pH of Normal rain water is : _ g
(a) 5.6 (b) 6.5 (c) 4.6 (d) 7.5

[ $wlys / Turn over
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10.

11.

ST eI GriGiolig.d gertenenwl QummicTerg 6rg ?

- ()
() U (rF) (=) wHpibd (<=,)

Which one of the following is aromatic ?

o ) o O
(c) U (d) both (a) and (b)

n=3 GraiiD (PTG &H6UTERTL LD 6T 6HoT6m GosT Ll CUOHB(BHHGD <2, MAL_L_meéd s e cor

. Qs eraarilsans

(1) 5 (<2%)9 () 7 (FF) 8

The total number of orbitals associated with the Principal Quantum Number n=3

is :

(a) 5 (b) 9 (c) 7 (d 8
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12, SDI (A) : SENDEN OGTN LITTT STHES genentn CaremLg).

13.

14,

SO (R) : oygan AenawriiLy Wpodsmmy rilirale Grar® salss
STSHLITaEnsr srewiubElermen,

(1) s (A) &l yanncy snrewtid (R) sou.

(<) SO (A) WHMID Hryevarid (R) @nawr(hw afl Cogyd smyewid (R) 2418 Sanm)
(8) -&&nen afluner aflarsatn @pELb.

(@) somi (A) wHYD sTyeswD (R) @raHb Feug.

(w) saDpi (A) LODID sMewTd (R) @ream(d &l @yamme) snyemib (R) 246mg) Sapm)
(A) -sane sNwner eerdswnee.

Assertion :  Oxygen molecule is Paramagnetic.

Reason : It has two unpaired electrons in its bonding molecular orbital.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
assertion.

(c) Both assertion and reason are false.

(d) Both assertion and reason are true but reason is not the correct explanation
of assertion.

i@y e 222 -g Aamar seflwgdlen IUPAC QUWIT eTeeauna @m&ELD ?

(1) didibium (<y,) bibibiium (@) bibibium (F) bididium
What would be the IUPAC name for an element with atomic number 222 ?
(a) didibium (b) bibibiium (c) bibibium (d) bididium

g Qeutiu, 2Wss Heoalle, em GHUGLL arydda alraysd s,
eBLgamens &1 ig@ib 0.5 L kG ASs0 arafléd Sia@HualL eumyeler Guoremt
Heop

(1) 114 gmol~1 () 112 gmol™! (@) 120 gmol~! () 110 g mol~!

An unknown gas diffuses at a rate of 0.5 times that of Nitrogen at the same
temperature and pressure. The molar mass of the unknown gas is

() 114 gmol~! (b) 112gmol™! (c) 120gmol~! (d) 110 gmol~!

[ &imuys / Turn over
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15. @aliths  Shé SNTLGT-DL - BSmav[H  cumieilct &S meneT 6T 6u6uTm)
<FsfNssomd ?
(=) @ipsssdaoar Gopi) (<) ser @iarelanen o1 sMs5s)
(@) @iysspdoar @falss  (v) Goupdld gabldme
Solubility of carbon-di-oxide gas in cold water can be increased by :
(a) decrease in pressure (b) increase in volume
(c) increase in pressure (d) none of these
Uu@gl - II / PART - II
Goay : eremeuCuigniih DI eTTés@Hs s, e weflGsab. elarm crar 24 -&@
6x2=12

SLL_muwons elen L wiefl&seyLb.

Note : Answer any six questions. Question No. 24 is Compulsory.

16. 568lnCGarhoib Hmib A &SP @H&SD — CaumuPss15.

Distinguish between oxidation and reduction.

17. Oapuiseruisden BlEswinnms g,é;in@s)m Camum_yemens gnms.

State Heisenberg’s Uncertainty principle.

18. unffev srpgefen LwetsemaTs GHUGGs.

Mention the uses of Plaster of Paris.

19. &S-sricllwfen s&8516u5Hamans FM .

State Le-Chatelier principle.

20. seugy(h UTeUs) Si(PSHID — eUENTWIM| &&ELD.

Define Osmotic Pressure.
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GereumeuaraupMpE QA D@D G,
() H,0 (i) HNO,
Draw the Lewis structure for :

i) H,0 (i) HNO,

QFL -yl eSeareowts updl Hm GO eT(p&Is.

Write short notes on Friedel Craft’s Reaction.

&§186T TSEUHSHSET TEIDTD erares ? THSGEST(H SHE.

What are Particulate Pollutants ? Give example.

0°C Qauiuflevauder 1 Cuomed uallésl iy Frms e mEL Gurg Hlawb eren Gyma
wTHps®mss sarsd(Hs. ualssgular Curert 2 mEse Qe wHly

6008 J mol~ 1.

Calculate the entropy change during the melting of one mole of ice into water at

0°C and 1 atm pressure. Enthalpy of Fusion of ice is 6008 J mol 1.

L@d) - III / PART - III

sL_Lmuwng afenLweil&se, .

Note : Answer any six questions. Question No. 33 is Compulsory.

25.

SEallmGanhn erem wpenpuder eneumid elaensenar FLoe Qewis.
() KMnO,+Na,SO, - MnO,+Na,SO,+KOH

(i) Cu+HNO; — Cu(NOj),+NO,+H,0

Balance the following equations by Oxidation Number Method.

(i) KMnO,+Na,SO; — MnO,+Na,SO,+KOH

(i) Cu+HNO; — Cu(NOg),+NO,+H,0

&S
6x3=18
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26.

27,

28.

29.

30.

31.

32.

QPSRN GEUITERTLLD cTair Lighf) Ao GOy euenys.

Write short notes on Principal Quantum Number.

el QsrLmamen efleulGaayib.

Explain the Diagonal Relationship.

LTI @ADL TReneT ereleumy BTECHT eanL rgearms wrHmeuTis ?

How do you convert Para hydrogen into Ortho hydrogen ?

B eumyé swemum ey aumed.

Derive Ideal Gas equation.

BlenevdamirLyager “LDQ")yLb auflESTTL&ET eTaimmed eremen 7 Qrar® T(h&sIEST (D s6r
S(H3.

What are State and Path Functions ? Give two examples.

CoHsCl aramm apevdsnmy aumiur® o et w (A) eramp Gemod BAw KOH o gt
ellenaryfibg (B) eremm Cariogensub, 2 oaEanma sb% KOH o ey alleer Mg,
(C) erep Gaiwgeng b sm&lenmer. (A), (B) oM (C) -ms& ST Mls.

An organic compound (A) with molecular formula C,H:ClI reacts with aqueous
KOH and gives compound (B) and with alcoholic KOH gives compound (C) Identify

(4), (B) and (C).

gnewt o eflenataney G@Hs TRSSIEET(H Bhgl eflard s,

Explain inductive effect with suitable example.
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33. SpssarL. CaTOMBERHEE SMUIL| QIMULITL®L 6T(LpSS.
(i) m-er aplCrm Quende
(i) p-eo GCearrCrm QuenSe
(ii)) 1,3,5 - yoor QugdHe Quenser
Write the structural formula for the following compounds.
(1) m-dinitro benzene

(11) p-dichloro benzene

(iii) 1,3,5 trimethyl benzene

@S - IV / PART - IV

SO : Sevenss lamssErs@h sl wailssab. 5x5=25

Note : Answer all the questions.

34. (=) gaflb uELUMLe® @@ Caiob eaTaBLD Sra|semar sm&mgl. Na=14.31%,
S=9.97%, H=6.22%, 0=69.5%. GarwsSaicrer manl rmern 1 (peugId,
&dnaLar Ceipg Lys brmes Qmsdng aafled, GamosHer apassnn
aumiur’ L srars. (Ceiwsdlen possmm Heom 322)

SIEV6VF)]
(=) (i) Quarel selliGamasd S556uSH S Famis.
(ii) pelien Yeunssean elHanws smms.

(a) A compound on analysis gave Na=14.31%, $=9.97%, H=6.22%, O0=69.5%.
Calculate the molecular formula of the compound, if all the Hydrogen in the
compound is present in combination with Oxygen as Water of Crystallisation.
[molecular mass of the compound is 322]

OR
(b) (i) State Pauli Exclusion Principle.

(ii) State Modern Periodic Law.

A [ pliys / Turn over
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35. (&) () GsrGunliyser (wrpHwmiser) erenmmed eremet ? & QL7 g3 &l ér
gCenGLriysailar Quuiisamer CT(LPGI5.
(i) srevdluigder LWIGTSEETS &(1h.
TN
(<) eura@rL it eurébev onfleSsamers Qanan® Havavwomy wrhlelsmans Smed.

(&) (i) What are Isotopes ? Write the names of Isotopes of Hydrogen.

(1) Give the uses of Calcium.

OR

(b) Derive the values of Critical Constants in terms of Vander Waals constants.

36. (i) Ueulin Quisselwelen Gneirimb elfuflen LCaum smpmIE@ETS Sams.
" 160605
(=) () Heop g,rrésa; eflflenwis snmis.
(ii)  Canem eNHuderr QUL &ET Wmeney ?
(a) State the various statements of Second law of Thermodynamics.
OR

(b) (i) State law of Mass Action.

(i) What are the limitations of Henry’s Law ?

37. (31) epodamm <Al Lnéd Qsmerensule WPEEW Sbstisemar efleufissayLb.
Slevevg)
(=) (1) &M (Safrmr*éj&aﬂgh QUL LT s6T FCsemIb ependene (PG!S,
(i)  Qereuqmid Gamomisefed o drer efaarQewLid Aem@dHul@enars SETL_( .

(A) L Lmévig emam(p
(B) %&58160l& y1flevid
(C) oL Qugdler gt
(D) QugdHed yBei
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(&) Explain the salient featyres of Molecular Orbital theory.

OR

(b) (i) Give any three characteristics of Organic compounds,

(1)  Find the functional group of the following compounds.

(A)  Acetaldehyde
(B) Oxalic acid

(C) Dimethyl ether
(D) Methylamine

38. (1) Quenfear sielianyL upBl efleuéaayLd.
TN
(=) (i) CHaMgl -6 Qgririud) lﬁ]é&rm@mmmj)mm ereueumm swmiliiumis ?
(A) 5dle) ydsanme
(B) 8l Lmégeman(
(C) ergdle Qg mai
(i) gnmibg Gurge (Eutrophication) eremmmed ereman ?
(a) Explain the structure of Benzene.
OR
(b) (i) Starting from CH;Mgl, how will you prepare the following ?
(A) Ethylalcohol
(B) Acetaldehyde

(C) Ethyl methyl ether
(iij What is Eutrophication ?

-00o0-
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